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1.  What will be the value of
A.
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2. The value of (sin30° cos60° - cos30° sin60°) is equal to:
A. -cos30°
B. -sin30°
C. cos30°
D. sin30°
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3. What is sina — sinf3?

A.

B
C.
D

a+p a—p
2cos =L sin =L
2 2
. a+ . a—
2sin Tﬁ sin Tﬁ

a+p
2cos =L sin =L
Zﬂ Zﬂ
2C0S —- sin —~
2 2
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2tan60° .
4. The value of ———1s
1+tan-60°

A. cos 60°
B. tan 60°
C. sin60°
D. sin30°
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5. What is the value of tan 240°?
A 2
B. (-)V3
C. 3
D. 3
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6. Iftan 0 +sec 6 =7, O being acute, then the value of 5 sin 0 is:

25
A —
24
24

25
1
24
24

B
C.
b3
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7. 16cos3Z —12cos= = ___
6 6

0
2
1
-1
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8. IfcosA = %, find cotA.
9

A. 20
p. 4

B
C. g
D —-

41
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9. Iftan?0 =1 — a?, then the value of sec 0 + tan30 cosec 0 is:
A (2- a)%

B. (a%- 1)%

C. @2-ad)z

D 3

az
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10. If cot x —tan x = 3/2, then what will be the value of cot x + tan x?
A. 3
B. 2
C. 52
D. 72
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If sec?A + tan’A = 117, then sec*A—tan*A is equal to:

A.

B
C.
D
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13
17
4
13
4
17
5
17
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12. If sin (A + B) = cos (A + B), what is the value of tan A?
A 1-tanB

1+tanB
1+tanB

1—-tanB
1+secB

1—secB
1—cosec B

B
C.
D

1+cosec B
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13. In A ABC, right-angled at B, AB =7 cm and AC — BC = 1 cm. Find the value of sin C
3

A =
12

B. 13—3

D.

25
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If sin O + cos 0 = V5 sin(90 — 0), find the value of cot 6.
A.

B
C.
D

Trigonometry

V5-1
5
V5+1
4
V5+1

3
V5-1
4
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15. IfcosecA — cotA = i, then the value of tan A 1is:

8
A =

15
8
17
15
17
17

B
C.
T
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16. The value of cot 15° cot 25° cot 45° cot 75° cot 65° is:
A 1
B. V3
C. 1
D. V2
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17. In triangle PQR, right angled at Q, if cot P = +/3, then the value of sin P is:
A.

B
C.
D

N | = —
N[5
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18. Iftan A + cot A = 2, then the value of 2(tan>A+cot?A) is:

Sawp
W N B =
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19, 1£279%58) _ 1 on what will be the value of 12258
sin@ 5 sinf
A. 5
B. 2/5

C. 4/5
D. 1/5
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20. If sin A =< and sin B = 1—3 what is the value of sin (A — B)?

32
A ——
3
B ==
. 85
C. g
D —_

45
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